THE BEER/ALCHOHOL TRADE-OFF
So, if your social structure or social tension has you drinking beer and yet you want to be on a diet and healthy, here are the trade-offs in calories, as they are not posted on the label.   

Beer

The following is per 100 ml.  A very small bottle of beer has 355 ml, so you’d have to multiply the calories by 3.55, so a light beer at 30 calories per 100 ml would have 106 calories.

	
	Regular beer
	Light beer 
	Non-alcohol

	Calories per 100 ml.
	37-57
	23-35
	15-21


Excludes extreme exceptions. 

Other alcohols

	
	Gin, Vodka
	Wine, White
	Crème, 14%

	Calories per 100 ml.
	222
	74
	350


 Killer calories!  Alcohol is like sugar.
One source of data for specific brands of beer: www.brewery.org/brewery/library/AlClbinger.html
Overall Liquor 

www.weightlossresources.co.uk/calories/calorie_counter/alcohol.htm
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